
Understanding Double Entry Accounting

File  C6-33
July 2009

www.extension.iastate.edu/agdm

Laura Hofstrand
accountant, Des Moines Diocese, Catholic Church

Don Hofstrand 
extension value added agriculture specialist
co-director Ag Marketing Resource Center

Farm families have traditionally used the single entry (often referred to as cash) method of account-
ing for their farm business.  This is a relatively simple method of accounting where items are listed as 
income or expenses when cash transactions occur.  For example, grain is recorded as income when it is 

converted to cash, that is, sold and delivered.  Also, production inputs like seed, feed and fertilizer are record-
ed as expenses when they are paid for rather than when they are used or ordered.

The single entry method of accounting does a poor job of recording the true profitability of a business within 
or between accounting periods.  For example, crops can be sold in a year other than when they are grown and 
expenses can be paid in the year before or after the inputs are used.

To correct this problem, cash accounting uses an adjustment where inventories of production inputs and 
inventories of crops and livestock are taken at the beginning and end of the accounting period (e.g. calendar 
year) to adjust the income statement to a form of accrual accounting.  The inventories shift production inputs 
and inventories of crops and livestock into the year in which they are used or produced rather than when they 
are purchased or sold.  

Double entry accounting goes a step further.  Every time an income or expense transaction occurs and an 
entry is made, the net worth statement is updated at the same time.

The two financial statements encompassed in double entry accounting are the net worth statement (also called 
the balance sheet or equity statement) and the income statement (also called the profit and loss statement).  
Actually the income statement becomes part of the net worth statement, as described below.  

Traditionally, in single entry accounting, the net worth statement is only prepared or updated at a specific 
point in time.  Often this is the beginning of a new year.  The net worth statement is usually not updated again 
until the following year.  In double entry accounting, the net worth statement is updated every time an entry 
is made.  So the balance sheet changes from being a static financial statement (updated only periodically) to a 
dynamic financial statement that is always current.

In double entry accounting, the net worth statement is constructed using cost basis values rather than market 
values.  This means that assets are valued at their original cost (adjusted for depreciation) rather than their 
current market value.  So net worth or equity only increased or decreases as a result of profit or loss from the 
business, or from a non-business cash infusion or withdrawal.  

With single entry accounting, the profit or loss for the accounting period is transferred from the income state-
ment to the balance sheet when a new balance sheet is prepared, usually on January 1.  With double entry ac-
counting, the income statement is part of the equity section of the net worth statement, so net worth is updated 
every time an entry is made. As a result, the equity portion of the net worth statement increases or decreases 
every time revenues or expenses are posted.  Noncash income, such as grain placed into storage, can be 
entered when harvest is completed.  Noncash expenses, such as depreciation, are usually entered at the end of 
the accounting year.     
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Net Worth Statement (Balance Sheet)
In its standard format, assets are listed on the left side of the net worth statement and liabilities and equity are 
listed on the right side.  The statement balances (hence the balance sheet title) because the assets on the left 
side equal liabilities plus equity on the right side.

Assets = Liabilities + Owners Equity (net worth)

This equation is the foundation for accounting.  If this equation or balance doesn’t hold true, then an error has 
occurred.  

•  Assets - An asset is a resource owned by the business from which future economic benefits are expected to 
flow to the business.  In short, something that adds value to your business.

•  Liabilities - A liability is a present obligation of the business arising from past events.  It is a claim against 
the business.  Meeting these claims will result in an outflow from the business.  In short, it is something that 
subtracts from the value of the business. 

•  Owner’s Equity (net worth) - By manipulating the equation above, it also holds true that assets less li-
abilities equals owner’s equity, as shown below.  Owner’s equity is what remains after the liabilities (claims 
against the business by outsiders) are subtracted from assets.  Owner’s equity is the owner’s claim against 
the business.  

Assets – Liabilities = Owners Equity (net worth)

If assets exceed liabilities, the business is solvent (has sufficient assets to meet the claims against the business 
by outsiders).  If liabilities exceed assets the business is insolvent (cannot meet the financial claims by outsid-
ers against the business).

T Accounts
Double entry accounting utilizes “T” accounts.  The name of the account is listed on the top of the T.  The 
debit is always listed on the left side of the account and the credit is always listed on the right side.  
Actually the words left and right could be substituted for debit and credit.

Name of Account
	 Debit	 Credit	

A basic rule of double entry accounting is that an amount that is entered as a debit must also be entered as 
a credit in a different account.  For example, a $2,000 entry as a debit in account one is also entered as a 
credit in account two.  This keeps the books “in balance”.

Account One
	 Debit	 Credit
	 $2,000

Account Two
	 Debit	 Credit
		  $2,000
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The amounts can be split among two or more accounts, but the total amount entered as debit must always 
equal the total amount entered as credit.

Account One
	 Debit	 Credit
	 $3,000

Account Two
	 Debit	 Credit
	 $1,000

Account Three
	 Debit	 Credit
		  $2,000

Account Four
	 Debit	 Credit
		  $2,000

Asset Accounts
A debit in an asset account will increase the account balance.  Conversely, a credit in an asset account will 
decrease the account balance.  

Account 1
	 Debit	 Credit
	 +	 -

Example Transaction 1	
For example, a farmer purchases $1,000 of seed corn and writes a check for the amount.  The Cash asset ac-
count is credited (decreased) by $1,000 and the Seed Corn Inventory asset account is debited (increased) by 
$1,000.  This results in a $1,000 decrease in Cash and $1,000 increase in Seed Corn Inventory.

Cash
	 Debit (+)	 Credit (-)
		  $1,000

Seed Corn Inventory
	 Debit (+)	 Credit (-)
	 $1,000

Likewise the farmer purchases $2,000 of fertilizer.  The Cash asset account is credited (decreased) by $2,000 
and the Fertilizer Inventory asset account is debited (increased) by $2,000.  The result is a $2,000 decrease in 
Cash and a $2,000 increase in Fertilizer Inventory.

Cash
	 Debit (+)	 Credit (-)
		  $2,000

Fertilizer Inventory
	 Debit (+)	 Credit (-)
	 $2,000
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Example Transaction 2
The seed corn is held in inventory until it is planted.  At that time the Seed Corn Inventory asset account is 
credited by $1,000 and the Growing Corn asset account is debited by $1,000.  The seed corn is no longer in 
inventory but part of the growing corn crop.  The balance in the Seed Corn Inventory account is now zero.

Seed Corn Inventory
	 Debit (+)	 Credit (-)
	 $1,000	 $1,000
	 	     0
	

Growing Corn
	 Debit (+)	 Credit (-)
	 $1,000

Example Transaction 3
The fertilizer is moved from the Fertilizer Inventory asset account to the Growing Corn asset account when 
the fertilizer is applied.  In the example below, $2,000 of fertilizer is applied.  Assuming this was the amount 
of fertilizer previously in the Fertilizer Inventory Account, this asset account is now reduced to zero.  The 
Growing Corn asset account is now $3,000.

Fertilizer Inventory
	 Debit (+)	 Credit (-)
	 $2,000	 $2,000
	 0

Growing Corn
	 Debit (+)	 Credit (-)
	 $1,000
	 $2,000
	 $3,000

Example Transaction 4
When the corn is harvested and placed in storage, the entire amount in the Growing Corn asset account is 
credited and the Corn Inventory asset account is debited.  The Growing Corn asset account is reduced to zero 
and the Corn Inventory asset account contains the value of the corn based, not on market value of the corn, 
but on the cost of the production inputs invested in growing the crop. 

Growing Corn
	 Debit (+)	 Credit (-)
	 $3,000	 $3,000
	 	 0

Corn Inventory
	 Debit (+)	 Credit (-)
	 $3,000

Also note that through this entire process the total asset value has not changed.  In every entry, when an in-
dividual asset account is increased, another asset account is decreased by the same amount, leaving the total 
value of the assets unchanged.  The value of the corn is not changed to its market value until the corn is sold.  
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At this time, profit (loss) is generated and transferred to the income statement portion of the equity account.

Liability Accounts
Contrary to an asset account, a debit in a liability account will decrease the account.  Conversely, a credit in 
a liability account will increase the account.  

	 Assets	 Liabilities

	 Account 1	 Account 2
	 Debit	 Credit	 Debit	 Credit
	 +	 -	 -	 +

Example Transaction 5
Using the example above, assume that the seed corn is purchased on account rather than by using cash.  
Once again the Seed Corn Inventory asset account is debited and increased.  But now the Accounts Payable 
liability account is credited and also increased.

	 Seed Corn Inventory	 Accounts Payable
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
	 $1,000		 	 	 $1,000
	

Using the equation “Assets – Liabilities = Equity”, note that when the Seed Corn Inventory asset account is 
increased, the Accounts Payable liability account is also increased by the same amount.  So the increase in 
assets is offset by an equal increase in liabilities, leaving equity unchanged.   

Example Transaction 6	
When the seed corn is paid for, the Accounts Payable liability account is debited (decreased) and the Cash 
asset account is credited (decreased).  The Accounts Payable liability account is now zero.

	             Cash	 Accounts Payable
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
	 	 	 $1,000	 $1,000		 $1,000
				    0

Once again the two entries offset each other leaving equity unchanged.

Equity Accounts
The equity accounts are structured similar to the liability accounts.  Debiting an equity account decreases 
the account and crediting it increases the account.  Several types of equity accounts can be created.  For 
example, retained earnings is an equity account that contains profits from previous years that are kept in the 
business.  
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	 Asset Accounts	 Liability Accounts
	 Debit	 Credit	 Debit	 Credit
	 +	 -	 -	 +

		  Equity Accounts
			   Debit	 Credit
			   -	 +

Income Statement
The Income Statement records revenues and expenses and shows the profits (losses) generated by the busi-
ness.  The formula for the income statement is shown below.

Revenues (income) – Expenses = Profit (Loss)

Instead of a document separate from the net worth statement, the income statement is part of the equity 
section of the net worth statement.  Revenues increase equity and expenses decrease it.  So expenses debit 
(decrease) the equity account and are listed on the left side, and revenues credit (increase) the equity account 
and are listed on the right side.

	 Asset Accounts	 Liability Accounts
	 Debit	 Credit	 Debit	 Credit
	 +	 -	 -	 + 

		  Equity Accounts
			   Expense (Debit)	 Revenue (Credit)
			   -	 +  

However, in addition to being part of an equity account, revenue is also a category of accounts.  For individ-
ual revenue accounts, a debit decreases the account and a credit increases it.  So, crediting a revenue account 
increases revenue which subsequently increases equity because a revenue account increases the equity ac-
count.  Conversely, debiting a revenue account decreases revenue which subsequently decreases equity. 

Likewise, in addition to being part of the equity account, expense is also a category of accounts.  For in-
dividual expense accounts, a debit increases an expense account and a credit decreases it.  So, debiting an 
expense account increases expenses which subsequently decreases equity because an expense account debits 
(decreases) the equity account. Also, crediting an expense account decreases expense which subsequently 
increases equity. 

	 Asset Accounts	 Liability Accounts
	 Debit	 Credit	 Debit	 Credit
	 +	 -	 -	 + 

		       Equity Accounts
			   Expense Accounts (-)	 Revenue Accounts (+)
	 Debit	 Credit	 Debit	 Credit
	 +	 -	 - 	 +
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Example Transaction 7	
Continuing the example from above, when the corn in the Corn Inventory asset account is sold, the following 
transactions occur.  First the production expense of $3,000 (seed and fertilizer) that has been carried forward 
into the Corn Inventory asset account is credited and this account becomes zero.  (Note that the corn in the 
Corn Inventory account is valued at its cost of production rather than market value.)  The Corn Expense 
account that is one of the Expense Accounts that is part of the Equity Account is debited.  This increases the 
expense account that, in turn, decreases the equity account.

	 Corn Inventory	 Corn Expense
	 Debit (+)	 Credit (-)	 Debit (+)	 Credit (-)
	 $3,000		 $3,000	 	 $3,000
	 0

	
Next, the sale value of the corn (e.g. $5,000) is debited to the Cash asset account and credited to the Corn 
Sales revenue account.  So both the cash and corn sales accounts increase by $5,000. 

	 Cash	 Corn Sales
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit +)
	 $5,000		 	 	 $5,000

The result is that total assets increase by $2,000 because $3,000 of corn inventory is converted to $5,000 of 
cash, and equity is increased by $2,000 because $3,000 of expenses and $5,000 of revenue are posted to the 
Equity Account.  The balance in the net worth statement is maintained.  Both assets and equity are increased 
by $2,000.

Example Transaction Summary
A layout of all of the transactions and their respective T accounts is shown below.  The number of the trans-
action is shown in parenthesis so you can follow the progression of how the transactions occurred.  
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	 Assets	 Liabilities

	 Cash	 Accounts Payable
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
	 $5,000 (7)	 $1,000 (1,6)	 $1,000 (1,6)	 $1,000 (1,5)
		  $2,000 (1)
		  $3,000	
                                                                                                                                 Equity	 	
	 Seed Corn Inventory	 Expenses (-)	 Revenues (+)	
	 Debit (+)	 Credit (-)	
	 $1,000 (1,5)	$1,000 (2)	 Corn Expense	 Corn Sales
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
			   $3,000 (7)		  $5,000 (7)
	 Fertilizer Inventory	
	 Debit (+)	 Credit (-)
	 $2,000 (1)	 $2,000 (3)

	 Growing Corn
	 Debit (+)	 Credit (-)
	 $1,000 (2)	 $3,000 (4)
	 $2,000 (3)
	 $3,000

	 Corn Inventory
	 Debit (+)	 Credit (-)
	 $3,000 (4)	 $3,000 (7)

The debits and credits offset each other in all of the transactions.  In the first six transactions there is no change 
in equity.  Only in the last transaction (7) does equity (net income) change (increase by $2,000).

	 Assets	 Equity
		  Expenses	 Revenue
				  
	 Cash	 Corn Expense	 Corn Revenue
	 Debit (+)	 Credit (-)	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
	 $5,000	 $3,000	 $3,000			   $5,000
	 $2,000
	
The Net Worth Statement is still in balance because equity (cash) is increased by $2,000 and assets (cash) are 
also increased by $2,000.

	 Assets	 Equity
	 Debit (+)	 Credit (-)	 Debit (-)	 Credit (+)
	 $2,000			   $2,000
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Capital Assets
Capital assets such as machinery, equipment and facilities are assets with an economic life of more than one 
accounting period.  So, its cost is spread over more than one accounting period.  This is recorded with an asset 
account called a contra-asset account.  A contra-asset account always accompanies a capital asset account.  It 
is used to accumulate the decrease in value or depreciation of a capital asset.  This allows the annual deprecia-
tion to be transferred to an expense account.  It is called a contra-asset account but it decreases the value of 
the asset.  Although it is an asset account, it is structured like an expense account with the debit side decreas-
ing the account and the credit side increasing the account.

For example, when a capital asset such as an item of machinery is purchased, it is placed in an asset account 
(e.g. Machinery).  To record annual depreciation of the capital asset, a contra-asset account is set up called 
Machinery Depreciation.  The net amount of the two accounts is the remaining value of the machine (unde-
preciated balance).  

Machinery
	 Debit	 Credit
	 +	 -	

Machinery Depreciation
	 Debit	 Credit
	 -	 +	

Example Transaction 8	
Assume a new tractor is purchased for $100,000 with the payment made in cash.  

Machinery
	 Debit (+)	 Credit (-)
	 $140,000	

Cash
	 Debit (+)	 Credit (-)
		  $140,000

Example Transaction 9	
For simplicity, assume the tractor’s depreciation method is straight-line over seven years with no salvage 
value.  So annual depreciation is $20,000 ($140,000 / 7 yrs. = $20,000). At the end of the first year the Ma-
chinery Depreciation contra-asset account is credited for $20,000 and the Machinery Depreciation Expense 
equity account is debited for $20,000.  The remaining value of the tractor is the difference between the 
Machinery asset account and the Machinery Depreciation contra-asset account or $120,000 ($140,000 - 
$20,000 = $120,000).  This continues until the end of seven years when the tractor is completely depreciated, 
or until the tractor is sold or otherwise disposed of. 

	 Machinery Depreciation	 Machinery Depreciation Expense
	 Debit (-)	 Credit (+)	 Debit (+)	 Credit (-)
	 $20,000	 $20,000
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Example Transaction 10	
If the tractor is sold for $90,000 at the end of four years, the Machinery asset account is credited for $90,000 
and the Cash asset account is debited for $90,000, leaving $50,000 in the Machinery asset account.

Machinery
	 Debit (+)	 Credit (-)
	 $140,000	 $90,000
	 $50,000

Cash
	 Debit (+)	 Credit (-)
	 $90,000
		
At this time, $80,000 of depreciation has accrued in the Machinery Depreciation contra-asset account (4 
years x $20,000 = $80,000).  However, the tractor only decreased in value by $50,000 ($140,000 - $90,000 
= $50,000) from the time it was purchased until it was sold.  To account for this, the Machinery Depreciation 
contra-asset account is debited by $30,000 and Machinery Depreciation Expense equity account is credited 
by $30,000.  Debiting the Machinery Depreciation contra-asset account decreases this account to the actual 
$50,000 of depreciation that accrued on the tractor.  Crediting the Machinery Depreciation Expense equity 
account decreases depreciation expense by $30,000.  This offsets $30,000 of the $80,000 of depreciation 
expense posted over the previous four years and results in the actual amount of $50,000 depreciation expense 
posted to the Expenses account of the Equity account.  The remaining value of the tractor should be, and is, 
zero because it was sold.  This is shown by the difference between the Machinery Asset account of $50,000 
and the Machinery Depreciation contra-asset account of $50,000.

	 Machinery Depreciation	 Machinery Depreciation Expense
	 Debit (-)	 Credit (+)	 Debit (+)	 Credit (-)
	 $30,000	 $80,000	 	 	 $30,000
	 	 $50,000

Example Transaction Summary
A layout of all of the capital asset transactions and their respective T accounts is shown below.  The number of 
the transaction is shown in parenthesis so you can follow the progression of how the transactions occurred.  

The net result of all of the transactions is that the Machinery Deprecation contra-asset account of $50,000 off-
sets the remaining value of $50,000 in the Machinery asset account and the net amount of Machinery Depre-
ciation Expense of $50,000 is offset by a $50,000 decrease in Cash asset account.
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	 Assets	 Equity		
	 Expenses (-)	 Revenues (+)
	 Cash	 Machinery Depreciation Expense	
	 Debit (+)	 Credit (-)		  Debit (+)	 Credit (-)	
	 $90,000 (10)	 $140,000 (8)		  $20,000 (9)		 $30,000 (10)	
		  $50,000		  $20,000
				    $20,000
	 Machinery		  $20,000
	 Debit (+)	 Credit (-)		  $50,000
	 $140,000 (8)	 $90,000 (10)
	 $50,000

	 Machinery Depreciation
	 Debit (-)	 Credit (+)
	 $30,000 (10)	 $20,000 (9)	
		  $20,000
		  $20,000
		  $20,000
		  $50,000
	
So, in the final analysis, Assets have decreased by $50,000 and Equity has also decreased by $50,000, the 
actual amount of decrease in the value of the tractor, and leaving the Net Worth Statement in balance.   

	 Assets	 Equity		
	 Expenses (-)	 Revenues (+)
	 Cash		  Machinery Depreciation Expense	
	 Debit (+)	 Credit (-)		  Debit (+)	 Credit (-)	
		  $50,000		  $50,000		
	
Accounting Journal
The accounting journal is where each transaction is initially illustrated with a specific entry.  The entries are 
recorded so that each account involved in the transaction is listed with the accompanying amount.  Depend-
ing on the transaction, the amounts are listed as debits or credits.  The debited amounts are listed first and the 
credited amounts last.  Remember that the total debit amount must equal the total credit amount. 
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Below is a listing of the example transactions outlined above as they would appear in the accounting journal.
Listing of Example Transactions			 

Example Transaction 1
Account	 Debit Amount	 Credit Amount
Seed Corn Inventory	 $1,000	
   Cash		  $1,000

Fertilizer Inventory	 $2,000
   Cash		  $2,000

Example Transaction 2
Account	 Debit Amount	 Credit Amount
Growing Corn	 $1,000	
   Seed Corn Inventory		  $1,000

Example Transaction 3
Account	 Debit Amount	 Credit Amount
Growing Corn	 $2,000	
   Fertilizer Inventory		  $2,000

Example Transaction 4
Account	 Debit Amount	 Credit Amount
Corn Inventory	 $3,000	
   Growing Corn		  $3,000

Example Transaction 5
Account	 Debit Amount	 Credit Amount
Seed Corn Inventory	 $1,000	
   Accounts Payable		  $1,000

Example Transaction 6	
Account	 Debit Amount	 Credit Amount
Accounts Payable	 $1,000
   Cash		  $1,000

Example Transaction 7
Account	 Debit Amount	 Credit Amount
Cash	 $5,000	
   Corn Sales		  $5,000

Corn Expense	 $3,000	
   Corn Inventory		  $3,000

Example Transaction 8 
Account	 Debit Amount	 Credit Amount 
Machinery	 $140,000	
   Cash		  $140,000
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Example Transaction 9
Account	 Debit Amount	 Credit Amount
Machinery Depr. Expense	 $20,000 x 4 = $80,000	
   Machinery Depreciation		  $20,000 x 4 = $80,000

Example Transaction 10
Account	 Debit Amount	 Credit Amount
Cash	 $90,000	
   Machinery		  $90,000

Machinery Depreciation	 $30,000	
   Machinery Depr. Expense		  $30,000

General Ledger
Each transaction is initially entered in the accounting journal at the time of the transaction.  The individual 
transactions that have been recorded in the accounting journal are periodically posted to the general ledger to 
show the current balance of the various accounts.  The general ledger contains all of the accounts and the 
balance amounts for each account. A computer-based accounting program will automatically post transactions 
to the general ledger.

For example, return to the first example transaction where a farmer purchases $1,000 of seed corn and writes 
a check for the amount.  The farmer would have entered the transaction in the accounting journal as shown 
below.  

Example Transaction 1
Account	 Debit Amount	 Credit Amount
Seed Corn Inventory	 $1,000	
   Cash		  $1,000

Periodically, after several accounting journal entries are entered, the farmer will post the journal entries to 
the general ledger.  Assume there is currently nothing in the Seed Corn Inventory asset account but there is 
$10,000 in the Cash asset account.  The amounts in the journal will be transferred to the ledger as shown 
below.  As a result of the posting, the Seed Corn Inventory asset account will contain $1,000 of seed corn and 
the Cash asset account will contain a balance of $9,000.     

Example Transaction 1	
For example, a farmer purchases $1,000 of seed corn and writes a check for the amount.  The Seed Corn 
Inventory asset account is debited (increased) by $1,000 and the Cash asset account is credited (decreased) by 
$1,000.  This results in a $1,000 increase in seed corn inventory and a $1,000 decrease in cash.

Seed Corn Inventory
	 Debit (+)	 Credit (-)
	 $1,000	 0



Cash
	 Debit (+)	 Credit (-)
	 $10,000	 $1,000
	 $9,000

Once again, with every debit there must be a credit.  So, at any time you should be able to add up all of the 
debits and all of the credits in the general ledger and they should be equal.  This is called a trial balance.  If 
they are not equal, an error has occurred since the last time you did a trial balance.  So, you will need to re-
view the entries since the last trial balance to find the error.

Which System should I Use?
The best system for you will depend on your individual situation.  Below are some of the advantages and 
disadvantages of each system.
	
Single Entry (cash) Accounting	
Advantages
•  Simple – accounting entries limited to recording cash transactions (except for capital assets)
•  Provides information for income taxes purposes
•  Is familiar to the agricultural community.
		
Disadvantages
•  Limited ability to track financial performance through the year.
•  Limited ability to do financial analysis.
•  Does not provide net worth analysis (unless balance sheet is updated independently)

Double Entry Accounting
Advantages
•  Net worth statement is always up-to-date
•  Same data builds both the income statement and the net worth statement.
•  Accrual adjustments are made automatically
•  Provides access to current and detailed financial information throughout the year to track financial perfor-

mance and conduct financial analysis. 

Disadvantages
•  More complex and time consuming than cash account.
•  Is an unfamiliar system to most agricultural producers.
•  Many of the traditional “tax” adjustments methods used in cash accounting (e.g. purchasing inputs in the 

previous year, delayed payment of grain sales, cannot be used)

As a general rule, single entry accounting may be best if you have a simple business and your main purpose 
for keeping records is for income tax purposes.  Conversely, if you have a complex business and want to 
perform financial analysis throughout the year, the double entry system may be best.  If you just want to do 
year-end financial analysis, single entry accounting with accrual adjustments at the end of the year may be 
preferred.  
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. . . and justice for all            
The U.S. Department of Agriculture (USDA) prohibits discrimination in all its programs and 
activities on the basis of race, color, national origin, gender, religion, age, disability, political 
beliefs, sexual orientation, and marital or family status. (Not all prohibited bases apply to all 
programs.) Many materials can be made available in alternative formats for ADA clients. To 
file a complaint of discrimination, write USDA, Office of Civil Rights, Room 326-W, Whitten 
Building, 14th and Independence Avenue, SW, Washington, DC 20250-9410 or call 202-720-

5964.

Issued in furtherance of Cooperative Extension work, Acts of May 8 and June 30, 1914, in 
cooperation with the U.S. Department of Agriculture. Jack M. Payne, director, Cooperative 
Extension Service, Iowa State University of Science and Technology, Ames, Iowa.


